


Hl & 0l & A S F Al A
202135 =0lAa LBt AL 1t
S ALD
33 ot gl
el otd =Al2el (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
Faf=pn); 17,115,449 30,004,797 12,889,348
= 60,000
S 1,622,000
= 15,433,449
ot dHl 3,998,000 5,568,000 A1,570,000
< 280,000
= 3,718,000
otd =Al2e 1,986,000 606,000 1,380,000
< 280,000
= 1,706,000
NEotE A2l (EX) 560,000 230,000 330,000
< 280,000
= 280,000
401 Al HIZ SO 560,000 230,000 330,000
S 280,000
= 280,000
01 Al&HI 560,000 230,000 330,000
OoXgotd R+=AS XNE= AL
80,000,0003 141 80,000
< 40,000
= 40,000
OXNgotd =X 24At 280,000,000& * 14 280,000
< 140,000
= 140,000
OMitHHl XIYotE St AHIAY
200,000,000& * 14 200,000
< 100,000
= 100,000
otdel& oi& 81,000 81,000 0
201 Zet=dhl 31,000 31,000 0
01 At 22l 28,000 28,000 0
Ostd 2| FHIZxE 10,000, 0003 14| 10,000
OotdglA2H S22 5,000,000& * 14! 5,000
Ostd=2E Xtg Xty 10,000,000 =14 10,000
OfAal &4 & HA=E 3,000,000 *14] 3,000
02 3323 3,000 3,000 0
Octd =& It&d |22l
3,000,000& * 14! 3,000
401 Al HIZL 20l 50,000 50,000 0
01 AlEHI 50,000 50,000 0
Ootd 2IRdiZ At 50,000,0003 14 50,000
Aegtotd |Al2el 435,000 295,000 140,000
401 Al HIZ SO 435,000 295,000 140,000
01 Al&HI 435,000 295,000 140,000
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AN AL
HM: StE I
= ot =2 CEERED
= T Polls
SN B CR(BH) - MRAY - BES 0l et S HRE2
OStd SHUWEXE X XD ZX
5,000,000& * 14! 5,000
QJIEH FHI(==H>) 20,000,0002 #4742 80,000
Odtd =& ALY 20,000,000 574 A 100,000
Ot R X2l At 50,000, 0003 14| 50,000
OEUE stats X2 200,000,000& * 14! 200,000
gy A3t 910,000 0 910,000
201 L2 & 4,000 0 4,000
01 Ab=2t el 4,000 0 4,000
OLUEHUE FHZHEDT =4 AtR 22|
4,000,0003 14! 4,000
401 AIEHIZL R 0HYI 906,000 0 906,000
01 Al&Hl 900,000 0 900,000
OYALUE AHTHEDT THAY
900,000,000 * 17K & 900,000
03 A& =0 6,000 0 6,000
OLAdLHE AHZHELD £d AIZRUHI
1,000,000, 0002 0. 6% 6,000
A5 FH 2,012,000 4,962,000 2,950,000
A0t Qo 212,000 362,000 150,000
201 L2 & 10,000 10,000 0
01 Ab=2t el 10,000 10,000 0
OAotdEHl HHl SX= 10,000, 0003 14| 10,000
401 AIEHIZL R 0HYI 202,000 352,000 A 150,000
01 Al&HI 200,000 350,000 150,000
OAGHE BIRAGHZ AL 200,000,000 * 14! 200,000
03 A& =0 2,000 2,000 0
OAictd QRoHZ SOH 2,000,0008 * 14 2,000
ZOHE AGHEEHIALY (HEH) (HEALY) 600,000 1,200,000 600,000
401 AlZHIL 2L 600,000 1,200,000 600,000
01 Al&HI 600,000 1,198,000 598,000
OXOHE ASHEFHIAIY 600,000,000 =141 600,000
HE2E A5HE ZHIAMS(HE)(HEALY) 1,200,000 3,400,000 2,200,000
401 AIEHIZL R 0HYI 1,200,000 3,400,000 2,200,000
01 Al&HI 1,200,000 3,395,000 A2,195,000
OW2E AcHEEHIALY  1,200,000,0003 *14] 1,200,000
St X0z 23 1,050,000 10,502,000 9,452,000
[ 1,050,000
St & Mo & X 1,050,000 10,502,000 A9,452,000
S 1,050,000
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SN AL
Hu: oahE x40 Lsl
Shol: GHETHOH X (el @)
= = e &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
NGt AH (SHETHAH O /S THE A X ) (HEAL 1,050,000 1,000,000 50,000
o)
= 1,050,000
401 A HIR S THYI 1,050,000 1,000,000 50,000
=S 1,050,000
01 AI&HI 1,050,000 993,700 56,300
OYLLUH (NSHKT) XL &HTYIAL
1,050,000,00024*14} 1,050,000
= 1,050,000
nEd &3 10,007,694 10,914,223 A 906,529
= 155,000
2 9,852,604
2 BFMH 86,931 110,931 224,000
WSS ZA 4,848 4,848 0
101 el24d| 4,848 4,848 0
04 JIZHZ22NSE =+ 4,848 4,848 0
OLWSTEA LAIAAQI=
80,8002 +20 x32! 4,848
S QIRGHZ 41,800 50,800 29,000
201 L EH2 & 25,000 47,000 222,000
01 At 2teltl 25,000 47,000 222,000
OsJl==8 100,000& 10 1,000
OT2OANZ 442 6,000,0008 14! 6,000
OT)SHIEEE 28 Sy+48
18,000, 0003 * 14! 18,000
202 04l 3,800 3,800 0
01 =LHOIYI 3,800 3,800 0
OT22Y AN 20,0002 +421+353] 2,800
ORSMe DIAHZ B 20,0008 x201253] 1,000
405 XHatE S 13,000 0 13,000
01 ML SSHSHI 13,000 0 13,000
OAMIHEBAMSSS 22|
13,000,0002! +1CH 13,000
=znx e 16,283 16,283 0
101 Q1218 16,283 16,283 0
VBIEDEEP TP 16,283 16,283 0
OSZEXEA LAIMS QIR
130,264 & 50125 16,283
AEA OIEAIE 2el 24,000 39,000 A 15,000
201 LBr2 | 4,000 4,000 0
01 A2 2|t 4,000 4,000 0
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S H:
7(‘| il—l:
C|—O|:

M B
U oM x
w 02 &
= O

Oy Jtor

M

(i

= = X L=
SA SR (S) - MRAY - BAS e RS2
OXENEZ BE2RA Xz
4,000,000 *14] 4,000
401 Al HI L2 0HHI 20,000 35,000 215,000
01 A&l 20,000 35,000 215,000
OXNNMANEZ FAI 22| 20,000, 0002 =14 20,000
=& FHl At 1,415,076 6,428,271 A5,013,195
?E RAES 915,076 1,125,271 A210,195
201 et gy| 80,000 56,000 24,000
01 AL 22l bl 64,000 24,000 40,000
O&=2 22 &Y =&Hl 2,000,000 14! 2,000
OEZEH| FHIEx= 50,000,000 14! 50,000
Okz=Z A= 12,000,000& * 14 12,000
02 2322l 16,000 32,000 A 16,000
Ok=Z=Z Xtz wAlZeldl 8,000,000 «2CH 16,000
206 M =4I 30,000 30,000 0
01 THZ 1l 30,000 30,000 0
OLZ SR 2Ll 30,000, 000& =14 30,000
401 Al HI L2 0HHI 805,076 1,039,271 A234,195
01 A&l 800,000 1,030,000 A230,000
OusSHMAILd=S4X ¥ |22
10,000, 000& * 14 10,000
O U BHRE TARY
1,000, 000& *150km 150,000
@O'.A:T:L C—|_’|Oj| ELC Eix-lt”
200,000, 000& =14 200,000
OT=2EXE FUIALS 20,000, 000 14 20,000
OLIAMNL T2xr 24 70,000, 0002 =14 70,000
OfIE=Z JIEd Y & 50,000, 0002 14 50,000
OlISESXE4(EHEETZ) 10,000,000 «52 Xl 50,000
oug RS 20,000, 000& * 14 20,000
O&=2Y M=ZY 15,000, 000& *23l 30,000
OEs+9 |XNE+ 25,000, 000& 201 2 50,000
ORYHASH ()| HUAFF HUUFHZ
L UHXIESEI) 150,000,000 *14] 150,000
03 A€ 208l 5,076 9,271 24,195
O=& RAE= ALY
1,410,000, 000& *0. 36% 5,076
HEXSINBAE X (2 E45 (Rel~IHE2H) 20 500,000 3,303,000 A 2,803,000
SAY)(HEAL)
401 Al HI L2 0HHI 500,000 3,303,000 22,803,000
01 A&l 500,000 3,294,081 22,794,081
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S AL D
NI DNEY BHE
o9l 2 FHl AtY (et @
% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
OT A4S (Fel~IHE2N S ZIHE ALY Al &
500,000, 000& * 14 500,000
SHEZZ HUIAMS 1,503,960 634,896 869,064
SHEZZ SEZIAMY 1,503,960 634,896 869,064
401 Al HI L2 0HHI 1,503,960 634,896 869,064
01 Al&HI 1,500,000 630,000 870,000
OLANISH(2=2l) S2EHEIH IS A
100,000,000 *14] 100,000
OLA204s M (3t el) =2 NES AL
50,000,000 14! 50,000
OLA1Red (M) C2EZHIA
850,000, 000& » 14! 850,000
OZ&201sH () T2 At
500,000, 000& * 14 500,000
03 A€ 208l 3,960 4,896 2936
OsSOUHEZZ AlE 20l
1,100,000, 000& 0. 36% 3,960
A2 QIRGHZ 2,835,219 3,740,125 A 904,906
& 155,000
o 2,680,219
FR=RANZ AL 1,025,611 1,020,048 5,563
201 et Fy| 19,000 19,000 0
01 At 22|l 15,000 15,000 0
OEERINAMNER 4,000,000 *14] 4,000
OxnE ANZ g Xt
11,000, 000& » 14! 11,000
02 2322l 4,000 4,000 0
OAre QRoHZ Xg sA2eltl
4,000,000 *14] 4,000
401 Al HI L2 0HHI 1,006,611 1,001,048 5,563
01 Al&HI 1,003,000 995,000 8,000
OH=2I(479) =2 HHIS A
10,000,000 * 14 10,000
OXZ&2l(189-2) th+==Z AXIZ At
10,000,000& * 14 10,000
OArE2I(157) =2 HUISA
25,000,000 14! 25,000
OY&el(58-1) =2 HBISA
20,000, 0002 =14 20,000
Ogel(192-2) =2 AXISA
40,000, 0002 =14 40,000
Og2l(105-2) th==2 HBISA
10,000, 000& » 14! 10,000
©210t2l(154) Bil==2 BUHISA
10,000, 000& * 14 10,000
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SN AL
MM DEY =B
ool ARD DI (el &
- _ - &
SA - SRA(SAH) - HRAY - HES Ol &4 'Oﬂ'@oEu HuE2
OUi=2l(1982) tha= ZOI=A
5,000,000& 14! 5,000
OANE2I(2-3) =2 HBISAt
10,000,000 * 14! 10,000
O3zl (418-1) BH=2 HUIZA
10,000, 0003 » 14! 10,000
OH2I(29) B2 BA LXIBA
10,000, 0003 * 14! 10,000
oZ=2l(21) =2 &XI3A
10,000, 0002 14! 10,000
OU=2I(172) 4z ZXIZA
10,000, 0003 * 14! 10,000
OH2I(309) B2 HXITA
10,000,000 14! 10,000
OAHHRI(416-3) BH+Z HXIBA
10,000,000 14! 10,000
OMH2I(229-1) B2 EXIZA
20,000, 000& *14] 20,000
O&&2l(715-30, 300-3) Ot=etd EEHIA
20,000,0002 * 14! 20,000
OB E2I(36-4) a2 SXZA
20,000,0002 14! 20,000
OZ4M2I(346) OIS 1™ HEZA
20,000, 000& *14] 20,000
OQ42](191-2) Y LXIBA
20,000,0002 * 14! 20,000
©2442](530) 0F2t2 THBAF
20,000,0002 14! 20,000
OME2I(280-7) B2 EXIZA
20,000, 000& *14] 20,000
Oss2(71-1) a2 HHIZA
45,000,002 14! 45,000
OB (420-1) 52 EHTM
25,000,0002 14! 25,000
o%tel(121-2) 52 EXTA
20,000, 000& *14] 20,000
OBt T2l (M30-1) S8 ERBA
30,000,0002 14! 30,000
ONBT2I(L16) 52 THIM
35,000,002 14! 35,000
OZBI2I(176) 42 BHITA
26,000, 000& *14] 26,000
OIIA22I(189) A EXITA
26,000,0002 14! 26,000
OO &T2I(326-2) tH+2 FHIBM
26,000,0002 14! 26,000
OFW2(263) Hi&2 EHHIZA
20,000, 000& *14] 20,000
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AN AL
g3 sy =5
©er A2 QAHA CEEREED
% = o Polls
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
OdtZEeI(30) S2HZYSA
25,000,000 * 14! 25,000
OF2l(AH8E) s2 FHISA
20,000,000 14 20,000
Ocel(&t72) =2 ZEZ A 20,000,000 *14] 20,000
OAE2I(355) OtAZ HLEZA
30,000,000 * 14! 30,000
O=F2l(138) s+=2 EXSAt
20,000,000 14 20,000
OJHEel(33) s+=2 EXISA
35,000,000 * 14! 35,000
O==cl(391) s+=2 &ZXSA
35,000,000 * 14! 35,000
O=Z012l(388-9) ML &HEHIA
25,000,000 14 25,000
Ogoiel(244-5) s+=2 EXSA
15,000, 000& * 14 15,000
OA=cl(348) s+=2 EXISA
20,000,000 * 14! 20,000
OAtEl(144) S EXSAt
25,000,000 14 25,000
OE=2l(143) It ZEXISA
15,000, 000& * 141 15,000
©&wel(110) S ZXSAt
15,000, 000& * 14 15,000
0=3&2I(130-1) s2 HZZIA
25,000,000 14 25,000
o8sz2l(1712) =2 ZH¥SM
20,000,000 * 14! 20,000
O wel(56) =2 EXIZAt
25,000,000 =14 25,000
O&=2l(640) L3 OtSer2 HEIA
20,000,000 14 20,000
OE=2I(199-4) Hi=2 FHISAt
20,000,000 * 14! 20,000
03 A& =0 3,611 6,048 N2,437
OFU=AHZ A 20
1,003,000, 000& *0.36/100 3,611
Fol=AoiZ AL (&HI) 460,000 120,000 340,000
=S 155,000
z 305,000
401 AlZHIL 2L 460,000 120,000 340,000
[ 155,000
= 305,000
01 Al&HI 460,000 120,000 340,000
ONE M= MYz SZHIA
210,000, 000& * 14! 210,000
=S 30,000
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M A
MM NEY &=
o AL QAWM Z (che &S
- - - bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH lOﬂEOEH Hunsz2
= 180,000
O=O0|2] ZS2 S22 HHIZA
50,000, 0002 1Al 50,000
[= 25,000
= 25,000
OXeI(413-1) AFH FHHIBAH
40,000, 0002 1A 40,000
[= 20,000
= 20,000
OZ2l(266) B2 ZHIZ A
40,000, 0002 1A 40,000
[= 20,000
= 20,000
OUAM2I(604-2) &2 ZEZA
20,000, 0002 1A 20,000
[= 10,000
= 10,000
OUSHRI(320-3) A& HHIZA
50,000, 0002 1A 50,000
[= 25,000
= 25,000
OXI2I(20) D20t 222 SX|ZA
50,000, 0002 1Al 50,000
[= 25,000
= 25,000
AFE JIEAIA S B ALY 1,349,608 2,600,077 A 1,250,469
401 AlEHI L 201y 1,349,608 2,600,077 A 1,250,469
01 Al&HI 1,345,000 2,590,000 A 1,245,000
OARD A& DIESX A
100,000,000 * 1Al 100,000
OATRBAIE 21227 2 HUALY
100,000,000 * 1Al 100,000
OZIIHMHUREHARD BSAE) HA2Y
50,000,000 = 14! 50,000
OZAE|(21-25) Bi&=2 HHI2A
40,000,000 * 14! 40,000
OMP AtEHZ| AWZF JFAE DA}
150,000,000 * 1Al 150,000
OJE~ANH-ZE =22 H
30,000,000 = 1Al 30,000
OMHOI2I(499) HHE=Z HHIZ2AH2X})
40,000,000 * 1Al 40,000
O ==XI2l(138-1) E2AH|IZ A}
40,000,000 * 1Al 40,000
O3 Ee|(426-4) SZ2EZEBA
30,000,000 * 1A 30,000
O H2I(401-11) B2 HUISAH
30,000,000 * 1A 30,000
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2A: AL
M NEO 5=
SR ARD OIAdHAE (2. &)
A4 (3H) - HEMY - BHAS Ofl AFoH %Eo% HlnE2
OM&El AW IS Z AL
200,000,000 * 14! 200,000
0S32l(372) sETEZXHSA
50,000,000 * 14l 50,000
O2=2](498-1) Hi%=2 HHIZA
20,000,000 * 14l 20,000
OFHA T2 ,22FH L SEADA
80,000,000 * 14l 80,000
E32 M&E FHISA &AIEAHES
50,000,000 * 14l 50,000
OMHOF2I(479-1) i FHHIZA
50,000,000 * 14l 50,000
O&WW FE[2 B A
50,000,000 * 14l 50,000
O&F =2l (437-21) A FANES=SA
65,000,000 * 14l 65,000
OatZHe|(672-1) 0202 ZEZA
30,000,000 * 14! 30,000
OXZ 82 M 100,000, 000! * 14! 100,000
OHEAN ez z ITX 30,000,000 * 14! 30,000
OASAH204)8tAWE 24X 10,000,000 14! 10,000
03 A& =2 0HHI 4,608 10,077 A5,469
OATRZ JIBAIE SE ALY 201
1,280,000,00024 * 0.36% 4,608
ol ST AFS 4,166,508 0 4,166,508
X ot™ THoH= AR (KHA) 19,208 0 19,208
401 A& HIZL 200 19,208 0 19,208
01 Al&H| 19,208 0 19,208
OBt THH=E AL 19,208, 000 1Al 19,208
XI5t THoH= RAFS (XIR) 1,162,388 0 1,162,388
401 AlEHIZL 20 1,162,388 0 1,162,388
01 Al&H| 1,162,388 0 1,162,388
OSHA M= PAIS 1,162,388,0002 « 1A 1,162,388
AGHE THAHE ALY (XHAI) 218,081 0 218,081
401 AlEHIZL 20 218,081 0 218,081
01 Al&HI 218,081 0 218,081
OAGHAE =R AR (XHAI)
218,081,000 14! 218,081
T HHETRAIS () 162,948 0 162,948
401 AlEHIZL 200 162,948 0 162,948
01 Al&H| 162,948 0 162,948
ORZ(ER) MH=RAIY 152,724,000« 14! 152,724
OZZ(WE) M==AY 10,224,000 14! 10,224
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SA

7(‘| il—l:

C|—O| :

o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
SHEZZ HHSFAIS () 174,960 0 174,960
401 Al HIZ SO 174,960 0 174,960
01 AlEHI 174,960 0 174,960
OsHEEZZ(ER) Mol=E7AL
147,024,000 * 14 147,024
OSHEZZ () M==AY
27,936,000 + 14| 27,936
el A2 THaHS2ALS (KHAI) 404,939 0 404,939
401 Al HIZL 20l 404,939 0 404,939
01 AlEHI 404,939 0 404,939
O=clAl4 MoH=7AIS 404,939,000& 14| 404,939
el A2 MHHSPAAIS (XIH) 162,567 0 162,567
401 Al HIZ SO 162,567 0 162,567
01 Al€H| 162,567 0 162,567
=clAl4 THoH =S ALY 162,567,000 * 14 162,567
=2lAlE THHSFAIS (X, SHESA 26,048 0 26,048
403 XXM SA=201 A 26,048 0 26,048
02 SJ|2S0te =X A AL 26,048 0 26,048
el AIE MHHERAML (SHESA)
26,048,000 « 14| 26,048
272 SSAE M SFALS (XA 1,835,369 0 1,835,369
401 Al HIZL 20l 1,835,369 0 1,835,369
01 AlEHI 1,835,369 0 1,835,369
OAWE Mol=7A 103,213,000 * 14 103,213
Os2 Moil=FA 659,449,000& * 14! 659,449
OME THol =AM 927,150,000& * 14! 927,150
OUtSdYUZ MH=ALY 79,877,000 *14] 79,877
OLAZAIE(JIEH M= PAIS
65,680,000% 14 65,680
sgoler2st 1,920,369 2,578,285 AB57,916
= 60,000
< 137,000
= 1,723,369
SSMAD|IEE A= 1,920,369 2,578,285 AB57,916
= 60,000
< 137,000
= 1,723,369
FclAlE =2 30,000 30,000 0
201 Zet=dhl 30,000 30,000 0
01 At=2t el 20,000 20,000 0
O=clA&&BI7 XYl 11,000,0003 =141 11,000
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A AL
33 sgJ|eds
Sl SN IR (chol: @l
. N
SA-BY.SASH) - RN - B ol &t S HIDE
O=cIAE =& FHIgX=
500, 0003 *3CH+6 9,000
02 s5=3H 10,000 10,000 0
O=xclANEE323HI 10,000,000 * 14 10,000
AN ==elAld HE= 264,347 1,112,993 848,646
401 Al HIZ SO 264,347 1,112,993 848,646
01 Al&HI 260,000 1,109,000 A849,000
OU&el(498) S+2 ZHISAH
40,000,000 = 14 40,000
Ogd=Y M=Al =2 2LSA
0,000,000& » 14! 30,000
O&=el(233) ZXF2UX T =2 ZHISAt
50,000,000 = 14| 50,000
Od2ZNEcX+ StH+=2 JUISA
50,000,000 * 14 50,000
O 2el(350-18) 2= HHISA
20,000,000& = 14| 20,000
OUslel 2+=& HHISAH 50,000,0003 * 14 50,000
OsIIEAE M= & &5 MA
20,000,000 * 14 20,000
03 Al& =0 4,347 3,993 354
OAlZ ==clAI& 2= 20
690,000,000& * 0.63% 4,347
ANZ =2lAlE HES(ZHIEX) 250,000 480,000 230,000
& 125,000
= 125,000
401 Al HIZ SO 250,000 480,000 A230,000
& 125,000
i 125,000
01 Al&Hl 250,000 480,000 A230,000
©J15el(208) sti+=2 HHISAt
40,000,0003 =14} 40,000
& 20,000
= 20,000
OZ=eI(568) 2 ZESA
30,000,0003 14 30,000
& 15,000
= 15,000
O3tel(346) s+ FJHISA
30,000,0003 14 30,000
S 15,000
= 15,000
O3l (2072) 2 ZESA
20,000,000 14| 20,000
S 10,000
i 10,000
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SA
X XH .
(== I

EEE

= =

O O ¥
[Q 12 Nx
e

S

zME

0
29

2

r
Ha

o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
O%3atel(227) =2 XIS At
20,000,000& 14| 20,000
< 10,000
= 10,000
OdtE=el(236) 52 HEYSA
60,000,0003 14 60,000
< 30,000
= 30,000
OFYel(4tb4-1) 52 ZHSA
50,000,0003 14 50,000
< 25,000
= 25,000
A2 SIIE HAAME 852,022 955,292 A108,270
401 Al HIZL 20l 852,022 955,292 A108,270
01 AlEHI 847,000 950,000 103,000
©210t2l(116) 2 ZFSA
30,000,000 14| 30,000
O2=2l(553) 52 ZISA
20,000,000& * 14| 20,000
ou=el(174-1) =2 EX3A
5,000,000 =14} 5,000
OF£el(239) s+=2 EXSA
10,000, 0003 14| 10,000
O3tel(402-1) FHYE EXSA
10,000,0003 14 10,000
O3ztdel(796) s=+=2 ZHISAH
10,000,0003 14 10,000
OF&ECI(54) =2 EFEZAF 25,000,0003 *14] 25,000
O&t#Eel(695) =2 &XISAt
10,000,000 14 10,000
og=Rel(113-4 ~ 211-8) ==2 HUISA
20,000,000& 14| 20,000
O"Rel(211-3) s+=2 ZXSAt
20,000,000& 14| 20,000
OE88ecl(496-3) s+=2 EXSA
20,000,000& * 14| 20,000
O==2/(854-3) th+=2 HXIZAt
20,000,000& * 14| 20,000
OUEel(160-1) s=+=2 ZXISAt
20,000, 0003 14| 20,000
O&5el(715-50, 716-44) 52 EXISAt
20,000,000& * 14| 20,000
Oz del(55) 0te 52 ZH3A
20,000,000& * 14| 20,000
OJt&Eel(6-4) =2 &XISAt
50,000, 0003 14| 50,000
od2=el(667) H=2 HEISA
50,000,0003 14 50,000
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S ALD
HH: so)| s
ol SQIMAD|BE D& (Eto): &2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
O LEl(35B0-1) th+=2 EXISA
30,000,000 14! 30,000
OL8el(456-1) BH+=2 EXSA
15,000,000& 14| 15,000
oZ=el(282) s+=2 FHISA
26,000,000 + 14| 26,000
ouxiel(121-2) s=2 FHISAt
20,000,000 14| 20,000
OuZFel(860) s+ FHISA
25,000,000& =14 25,000
O3LHC(82) s=2 FHISA
26,000,000& 14| 26,000
OZXel(47-1) S22 ZHIA
20,000,000& 14| 20,000
Og=xel(182) 52 ZHSAl
20,000,000& 14| 20,000
Ol 7el(245-2) s+=2 LT A
15,000,000& 14| 15,000
OXZEUCI(82) 5= EXSA
20,000,000& * 14| 20,000
O=2l(76) =2 ZHSA 30,000,000& * 14| 30,000
OdEde(180) 52 ZHSA
25,000,000 14| 25,000
Ostadel(155) s+=2 EXISBAt
30,000,000 14| 30,000
Odt=2l(461-5) =2 ZEHIA
15,000,000& 14| 15,000
O0X22/(88,39) =2 EXSA
20,000,000 14| 20,000
oY=l (177) =2 XS At
20,000,000 14| 20,000
ozALI(134-1) 2 ZHSA
20,000,000& * 14| 20,000
O3E2l(294) =2 EXISAt
20,000,000 14| 20,000
O=2cl(409-1) 52 ZEIA
20,000,000& 14| 20,000
Od=2l(468) s2 ZESA
20,000,000& 14| 20,000
OHXIel(446) =2 HHIZB At
30,000,000 14! 30,000
OYZel(152)tH=2 ZHHIZBA
20,000, 0003 14| 20,000
03 Al& =0 5,022 5,292 A270
OA7E =gIIEt BAAMY 2Bl
797,000,000 *0.63/100 5,022
Mol?le M=Kl SHIAL 524,000 0 524,000
= 60,000
< 12,000
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SA: AL
Hu: =ed|B gt
Col: SHMADIB RS CERE
) _ - A
SA - SRA(SAH) - HRAY - HES Ol & oK 'Oﬂ'@oEu HuE2
= 252,000
401 AEHIL S THY| 524,000 0 524,000
= 60,000
< 12,000
= 452,000
01 Al&H 520,698 0 520,698
O THAHSIE MK FIAS
520,698,0002! * 14! 520,698
= 60,000
< 12,000
= 448,698
03 Al& = CHHI 3,302 0 3,302
OMAMRIE M=K HUIAY SOl
524,000,0002! * 0.63% 3,302
HHSAAL (AL D) 139,386 442,289 302,903
ol 2oyl (A4 D) 89, 152 375,549 286,397
ol y(AL D) 89, 152 375,549 286,397
101 @124t 89, 152 375,549 286,397
01 84 78,056 113,701 135,645
OEW2R4Y 10,8412 1501 %480A] 2t 78,056
03 RIAHA2ER 24 11,09 261,848 A250,752
0E242% ZU224Y L I=| 11,09
OAIRFQI 2 g 18,9501 %401 %1201 2+ 9,096
O=2249 U= 500, 000! *1Z5#491 2,000
12 (AL D) 50,234 66,740 16,506
JI2ZH(AL D) 50,234 66,740 16,506
201 Lpre Y| 29,334 38,780 ~9,446
01 At 22l 29,334 38,780 ~9,446
CEIEIES= 1 15,870, 000! *14! 15,870
ozl 6, 144,000 * 14! 6, 144
oUZ 7,320,000 %14} 7,320
202 04H| 17,300 23,100 5,800
01 2Uoil 17,300 23,100 5,800
CEEESSISIETCR] 17,300, 000! *14! 17,300
203 YRETY| 3,600 4,860 21,260
04 BNSYY R 3,600 4,860 21,260
ORASILR Y| 3,600,0002!*14! 3,600
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